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=] IEGL | 548 | STEE | KA 1 2 3 4 5 6 a5t i&Z
10mS60MW 1 1| 18|+E x| 1029 | 1033 990 1036| 1019 1037 614.4
10mS60MW 2 1 17|sem %z | 1009 | 1036| 1005| 101.9| 1008| 1027 610.4
10mS60MW 3 ABNETE 996 | 1024 98.4 994 101.8| 101.1 602.7 | 63=101.1
10mS60MW| 4 2| 18|mm & 999 100.2 99.7 | 100.7] 1025 99.7 602.7 | 65=99.7
10mS60MW 5 2| 16| meg| 1012 1020 101.0 99.3 99.2 99.6 602.3
10mS60MW 6 1 24|mm w2 96.1 100.3 99.5 99.2 99.4 98.4 592.9
10mS60MW 7 1 21|lgpm 25 98.1 983 | 1016 99.4 97.5 96.4 591.3
10mS60MW 8 1| 36|gr= =z | 1006 96.4 [ 1005 99.4 93.9 98.9 589.7
10mS60MW 9 1| 20|gm ms | 1002 95.1 99.8 96.2 97.8 96.3 585.4
10mS60MW| 10 1 32|eax @ 97.4 98.7 97.3 98.2 94.7 97.3 583.6
10mS60MW| 11 1 26|x@ =mA 957 [ 100.2 99.2 95.4 95.4 96.3 582.2
10mS60MW| 12 1| 25|e#t 95.5 98.6 96.2 [ 1008 935 96.9 581.5
10mS60MW| 13 1 19|k mz 94.4 98.7 96.4 96.3 97.9 96.2 579.9
10mS60MW| 14 2| 20(mz: m— 98.3 94.7 94.0 95.6 95.4 95.1 573.1
10mS60MW| 15 1| 23|fEts ®E 87.9 94.4 96.2 985 95.9 96.9 569.8
10mS60MW| 16 1 22|8y 5xm 92.1 90.9 96.7 89.2 96.9 96.1 561.9
10mS60MW| 17 1 31|x# Bx 86.0 93.6 95.2 91.2 90.2 96.4 552.6
10mS60MW| 18 1| 30|z=m #mx 88.7 93.8 90.0 89.1 89.0 95.4 546.0
10mS60MW| 19 1 33|k =2 87.9 828 85.0 89.6 875 97.8 530.6
10mS60MW| 20 1 27|gx &= 84.7 88.3 92.6 878 85.5 91.4 530.3
10mS60MW| 21 1 28]z = 71.2 78.1 8838 83.4 69.9 82.2 4736
10mS60MW 2| 29|j&K g 0.0 DNS
10mS60MW 2| 19|xm Bs 0.0 DNS
10mP60OMW 1 2| 25|mmE k% | 103.6] 102.4| 103.6] 105.4] 105.1| 105.9 626.0
10mP6OMW| 2 2| 24| & 103.7] 103.8| 104.6] 103.9 104] 105.3 625.3
10mP6OMW| 3 2| 26(=m m= | 104.3] 104.3] 102.2] 103.7] 104.3] 103.9 622.7
10mP6OMW| 4 2| 22|mm #n | 104.6] 102.2| 104.2] 104.1| 101.5] 104.6 621.2
10mP6OMW| 5 2| 28|m®m x| 102.3] 103.8] 103.9] 101.5{ 101.9] 102.3 615.7
10mP6OMW| 6 2| 29|E 5| 101.2| 103.8| 101.6] 102.8] 99.8] 101.9 611.1
10mP6OMW 7 2| 27|m# == | 100.6] 101.7| 102.6] 101.4] 101.6] 101.2 609.1
10mP6OMW| 8 2| 23|ikmE wx 93.6] 94.8] 93.9] 88.4] 92.7] 87.8 551.2
10mP6OMW| 9 2] 21w mm 91.4[ 93.2[ 945 83.4] 882 92.7 548.4
APGOMW 1 2| 32)zm = 91 86 91 92 96 90 546
APGOMW 2 2| 31|m:g wmA 91 90 88 90 92 94 545
APGOMW 3 2| 36|mmE am 87 94 86 95 88 93 543
AP60OMW 4 AR 82 89 89 95 85 88 528
AP6OMW 5 2| 34|EE Hh 87 89 85 84 90 84 519
APGOMW 6 AR 82 88 88 86 83 84 511
APGOMW 7 2| 30|k wm= 87 84 75 84 82 90 502
APGOMW 8 1 34|mm g2 81 89 85 75 86 83 499
APGOMW 1| 35|00 %% 0 DNS
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¥R B | 8% | 5TEE | K4 1 2 3 4 5 6 &Et e
50mP60MW 1 1 28| /n1 B 103.1 100.2 101.0 102.2 103.3 102.8 612.6
50mP60MW 2 1 31|@mm@A #it 100.6 101.9 101.1 98.8 102.4 1034 608.2
50mP60MW 3 1 38|hFt BEF 1014 102.1 101.3 99.9 100.4 102.5 607.3
50mP6OMW| 4 1| 35| == 980 | 1005| 101.0 974 | 101.3| 101.1 599.3
50mP6OMW| 5 1| 34|Em = 98.1| 1008 97.2| 1018 97.1| 100.2 595.2
50mP60MW 6 1 36|HE -—= 96.6 102.4 102.9 100.4 95.7 97.0 595.0
50mP60MW 7 1 0|y =% 98.0 98.0 101.7 98.7 97.3 98.5 592.2
50mPEOMW-S 8 1| 27| #nEn 95.5 96.7 99.1 97.1 980 | 101.9 588.3 |xa—7
50mP6OMW| 9 1| 33|m# == 97.5| 100.2 98.2 97.6 95.8 98.8 588.1
50mP60OMW| 10 1 29|t —iE 98.2 98.2 96.9 96.2 95.3 91.0 575.8
50mP60OMW| 11 1 32| BF 90.2 96.8 92.5 98.6 93.1 93.7 564.9
50mP6OMW| 12 1| 37|mz = 93.0 95.5 85.0 95.2 94.4 92.7 555.8
50mP6OMW| 13 1| 30lms = 97.4 93.4 91.5 90.3 93.2 87.4 553.2
50m3X20MW 1 2| 28|k Ex= 88 92 90 97 81 82 530
50m3X20MW-S 2 1 40(g5 Kk =m 92 88 91 93 76 71 511 |za—>
50m3x20mMw| 3 2| 27|mx &= 85 92 77 86 61 67 468




